Day 1

1. 9 2. 16 3. 6 8Y72
+38 -9 X7 T
5. 29 6. 61 7. 6 6)38
+ 15 - 55 x 6 r

+ 4

9. | Round 68 to the nearest ten.

10.

What fraction of the squares is shaded?

A. Write two fractions to represent the selected part:

B. State what geometric figure is suggested by railroad tracks.

Day 2
1. . g 2. 3 3. ) g 6)54
5. % 6. _Ig 7. X_g 7)46
+ 4
9. | Round 7549 to the nearest hundred.
10. | What fraction of the circles is shaded?
__NORONON N _
A. Write two fractions to represent the shaded part:
B. State what geometric figure is suggested by clock hands.
Day 3
1. +_g 2. j 3. X_; 7)56
5. +_gjg 6. ﬁ 7. X_g 6)56
+ 5

9. | Round 998 to the nearest ten.

of the triangles are not shaded.




A/ A A/ A

A. Write two fractions to represent the shaded part:
e
B. State what geometric figure is suggested by a sewing needle.
Day 4
1. 8 11 3 8 4.1 7Y70
+ 3 -3 x 8 T
5. $3.26 66 7. 6 8. 8%
+ $1.35 - 48 x 7
+ 6

9. | What is the value of the 8 in 65,8127

10. | Shade 1/3 of the circles.

O 0000000 O0

ONON XO)
A. Write two fractions to represent the shaded part: O @00
B. State what geometric figure is suggested by a beam of light.
Day 5
1. +_g g 3 é 4.1 g0
| | I I IR

9. | What digit is in the thousands place: 862,933?

10. | What fraction of the shapes are circles?

O

\J

OO

A. Write two fractions to represent the shaded part:

DAY g
X
e

B. State what geometric figure is suggested by the corner of any room.




Day 6

1 8 14 6 6)42
+ 8 -9 X 6 T
5 51 50 8 8)37
+ 39 - 34 X9 r
+1
9. | What is the value of the 6 in 16,2287
10. | Circle the digit in the millions place for 8,295,624.
A. Correctly fill the blank with<, > or=: 2+4
B. Draw a line segment.
Day 7
1. 6 12 8 763
+ 6 -7 X5 T
5. $4.26 85 3 6)33
+1.39 - 79 X 9 E
+ 6

9. | Use <,>, or + to complete: 48 + 16 8x8

10. | Circle the digit in the millions place 24,623,953.

A. Correctly fill the blank with <, >, or = :

B. Draw aray.

Ox3x2 2x3x1

Day 8
+ 6
9. | Use <,>, or + to complete: 9 x 7 4x11

10. | Circle the digit in the millions place: 918,353,000

A. Correctly fill the blank with <, >, or = :

B. Draw aline.

O9x6__ 3x3x2x3

Day 9
1. 4 17 9 3)21
+8 -8 x 8 )21
5. 69 983 36 7Y23
65 - 497 X 6 r




+51 | | |

9. | Use<,> or+tocomplete: 12-6  18-9

10. | 3,586,497 the three is in the place.

A. Correctly fill the blank with <, >, or = :
B. Draw parallel lines

24+6 __ 25-10

Day 10
1. 9 2. 12 3 7 6) 48
+ 6 -8 X 6 T
5. $7.09 6. 430 7 63 gm
1.02 76 x 8
+2.03
9. | What day of the week will it be in 10 days?
10. | Add 2 million to 5,741,336.
A. Correctly fill the blank with <, >, or=: 123 +972 1000
B. Draw point A .
Day 11
1. 7 2. 14 3 7 6)48
t4 -5 X 6 )4
5. 734 6. $2.22 7 19 9@
621 - 1.59 x 8
+ 859

9. | What time will it be in 35 minutes?

10. | What fraction is unshaded?

A. Find the sum, difference, product, and quotient for 27 and 9
B. Draw perpendicular lines.

Day 12
1. +_g 2. j 3. x_i 327
5. 605| 6. 515 7 89 6)56
+305 - 337 x 4
9. | What month will it be nine months from now?




10. | What is the value of the 7 in 37,255,842?

A. Find the sum, difference, product, and quotient for 42 and 7

B. Is atrue line of symmetry shown? ..

Day 13
1. 9 2 17 3 9 4.1 8)56
t 7 -8 X 7 T
5. 16¢ 6. $10.00 7. 29 8. GE
39c - 7.98 x 8
41c
+ 24c
9. | If Herb earns $7.00 per hour, and works 6 days per week, 5 hours per day, how much does
Herb earn per week?
10. | Shade % of the triangles.

A. Find the sum, difference, product, and quotient for 36 and 9

B. Is a true line of symmetry shown?

Day 14

1. 4 2 15 3. 6 4.1 8Y72
+7 -6 x 6 "
5. $34.05 6. 800 7. 76 8. 9@
+6.91 - 595 x 8
9. | If Nancy earns $9.00 per hour for 7 hours per day for 5 days per week, how much does
Nancy earn after 10 weeks?
10. | What is the value of the 1 in 371,356,847?

A. Find the sum, difference, product, and quotient for 18 and 6

B. Is a true line of symmetry shown? | |




1 4 2. 13 3. 8 3)21
+8 -4 X 5 r
5. $9.99 6. 9103 7. 67 9)88
4.21 - 7118 X7
+6.33

9. | If Nancy earns $9.00 per hour for 4 hours per day for 7 days per week, how much does

Nancy earn per day?

10. Circle % of the X’s:

X X X X X X

X X X X X X

A. Find the sum, difference, product, and quotient for 56 and 8 Z

B. Is a true line of symmetry shown?

Day 16
1. 9 2. 12 3. 6 6)54
+6 -8 x 8 T
5 6,948 6 7216 7. 48 9)198
+ 5,365 - 849 X 1

9. | If Nancy earns $9.00 per hour for 5 hours per day for 3 days per week, how much does

Nancy earn per week?

10. | Complete: 7 x = 56

8
A. Write this fact with words: 6%

B. Is a true line of symmetry shown?

Day 17
1. 3 2 16 3. 8 4)36
5 479 6 606 7. 38 7)245
624 - 148 X 6
+ 513




|

9. | Round off 1648 to the nearest hundred.

10. | Complete: 4 x

= 24

9
A. Write this fact with words: 9)81

B. Draw a line of symmetry for the given figure:

Day 18
1. 9 14 6 56+7
+9 -8 x 7
5. $2.05 505 64 9) 477
.06 - 478 X 8
1.21
+3.54
9. | Write 928,076 in expanded notation.
10. | Complete: 5 x = 35
12
A. Write this fact with words: 4)48
B. Draw a line of symmetry for the given figure: E
Day 19
1. 7 14 7 9)81
+38 -6 x5 r
5 105 204 27 8} 656
9 - 115 x 7
291
+ 21
9. | What is the value of the 6 in 762,503?
10. | Complete: 8 x = 64
A. Draw a picture to represent each fact: a) 3+6 = b) 12-4=

B. Draw a line of symmetry for the given figure:

p—

Day 20

1. 241
224
+ 263

846
- 182

6)462




5. | Find the perim‘eter: | |
3
4 2
S)
6. | Complete: 3 x = 27
A. Draw a picture to represent each fact: a. 8 +5 = b. 9-7=

B. Draw a line of symmetry for the given figure:

Day 21

1. 1994 | 2. 808 3. 55 4.1 7)a97
+ 387 - 129 x 21

5. | The diameter of a circle is 22. What is the radius?

6. | What fact completes each of these families?

7x8=56 16+5=21
8x7=56 5+16=21
56+8=7 21-16=5
7.
Use < or > to complete: 1 1
4 3
Day 21
A. Draw a picture to represent each fact: a. 3x 2= b. 12+3=
B. Draw a line of symmetry for the given figure: <>
Day 22
1. 8087 2. 786 3. 228 4. 8} 648
+ 9888 - 529 X 23

5. | How many weeks are in 56 days?

6. | What fact completes each of these families?

3x6=18 12-5=7
6x3=18 5+47=12
18+3=6 12-7=5
7.
Use < or > to complete: % %
A. Draw a picture to represent each fact: a. 5x 4 = b. 6+2=

B. Identify the transformation
as a flip or a turn. L




Day 23

1. 7265 2. $100.75 3. 706 4.] 6)6569
+ 366 - 37.86 X 29

5. |Write>, <or=_ 605 _ 607; 310 _ 103; (4x9)+3 _ (3x 1)

6. | What fact completes each of these families?

Tx4=28 7+8=15
4x7=28 8+7=15
28+7=4 15-7=8

Use < or > to complete: % %

A. Draw a picture to represent each fact:

a. 7+1= b. 7x2= c. 7-4= d 21+7=
B. Identify the transformation
; —_—
as a flip or a turn.
Day 24
1. 162 2. 270 3. 12 4. 4)1234
+8 - 18 x_40
5. | Write from 1 to 9 with Roman Numerals.
6. | What fact completes each of these families?
9x8="72 9+8=17
72+8=9 8+9=17
72+9=8 17-9=8
7.
Use < or > to complete: 51 21
5 3
A. Change each fact into two different division facts:
a. 8x9=72
b. 5x7=35
B. Identify the transformation
as a flip or a turn.
Day 25
1. 5208 2. 5601 3. 412 4. 2} 648
+ 3771 - 3799 X 33
5. | How many days is in 10 years?
6. | What fact completes each of these families?




9x6=54 9+6=15
54+9=6 15-9=6
6x9=>54 15-6=9
7.
Use < or > to complete: 8% 8%

A. Change each fact into two different addition facts:
a. 24-9=15
b. 76 —-35=41

B. Identify the transformation
as a flip or a turn.

Day 26

1. 556 2. 42.3 3. 37 4. 65 275
314 - 57 X 46

344
+ 625

o

Draw two parallel lines.

o

Write the first 14 multiples of 6.

7. | Linda had $40.35. She spent $25.75 for a Six Flags Amusement Park ticket. How much
money did she have left?

A 1ft=__ in

B. Identify the transformation J
as a flip or a turn.

Day 27

745+ 34 + 1637 =

5004 — 2697 =

165 x 37 =

7)840

If a decade is 10 years, how many years in 12 decades?

Write the first 14 multiples of 7.

Noo MMwiNE

Write the value of 6 in 36,327,910.

A lyd=__ ft

B. Draw the figure, and then draw a
flip transformation of your first drawing.




Day 28

1. 9779 2. 4556 7061 80} 245
+ 7911 - 2974 x 84
5. | Write from 5 to 19 with Roman Numerals
6. | Write the first 14 multiples of 8.
7. | Complete: 42+ =6
A 12in=__ ft
B. Draw the figure, and then draw a
flip transformation of your first drawing.
Day 29
1. 187 2. 672 674 9)3600
729 - 299 X 26
246
672
+ 963

5. | Write the first 14 multiples of 6.

o

Multiply VII by IX and write the answer in Roman Numerals.

7. | The roller coaster could hold 64 people. Lin saw 98 people waiting in line. How many

would not be able go on the next ride?

A. 3ft=__ vyd

B. Draw the figure, and then draw a

flip transformation of your first drawing.

Day 30

1. 8888 2.
+ 2222

1222
- 888

8)409

5. | Find the perimeter: (answer: impossible b/c no triangle can look like this.)

8

6. | Write the first 14 multiples of 7.

7. | Complete: 81+__ =9




A.5280 ft=__ mi.

B. Draw the figure, and then draw a
flip transformation of your first drawing.

Day 31
1.116+327+4+86=
2. | 700 — 265 =
3.[$3.99x25 =
4. | 7)4501
5. | How many hours are in three days?
6 | Identify the problem parts with the correct terms.
8 | addend (example) 13
+ 95 -5
13 8
3 3
X 6 6)18
18 r
7. | What fraction is shaded?

. I

A 1mi.=__ ft

B. Draw the figure, and then draw a
flip transformation of your first drawing.

Day 32
1. 7.514 19081 4094 70)9434
+ .260 - 11307 X 75
5. | How many hours are in 96 days?
6 | Identify the problem parts with the correct terms.
75 81
+ 6 - 15
81 | 'Sum (example) 6
28 28
X 9 5)140
140

7. | What fraction is shaded?




A. 1760 yd =

mi.

B. Draw the figure, and then draw a
flip transformation of your first drawing.

Day 33
1. 4919 2. 2939 407 8} 636
+ 2000 - 188 x 38
5. | Find perimeter and area.
1
7
6 | ldentify the problem parts with the correct terms.
52 | Addend (example) 19
20 2)39
+ 37
109 - B
19
X 2 205
8 3
+ 1 -9
+ 1 202

[{e]

1
Use < or > to complete: 3

— 10

A 1mi.=__ vyd
B. Draw the figure, and then draw a
flip transformation of your first drawing.

=

Day 34
1. 8.498 2. 254877 4085 25}1625
+ .256 - 14589 x 38
5. | Find the perimeter:
4




6. | Write the first 14 multiples of 9.

7. | Complete: 486+ __ =9

A. 160z=__1Ib

B. Draw the figure, and then draw a

flip transformation of your first drawing.

Day 35
1. 10.498 2. 758459 3. 5063 25h700
+ .786 - 85848 X 24
5. | Find the perimeter:
5
10
6. | Write this number in words: 6,584
7. | Complete: 780+ __ =12
A 1lb=__ oz
B. Turn the given figure 90° clockwise.
Day 36
1. 9.324 2. 2721 3. 3844 61) 2520
9.540 - 555 X 65
+ .786
5. | How many hours in 600 minutes?

o

Write this number in words: 508

7. | Tina spent$14.75 for posters of rock groups. She paid with a $20.00 bill. What was her

change?

A. 2pt=

_qt

B. Turn the given figure 90° clockwise.

)

Day 37

1.

1475 2.

19
371

$29.32
- 457

2451
X 36

7)8560




+ 8

5. | How many minutes in 600 hours?

o

Write this number in words: 3047

7. | Find the perimeter:

5

A. 1qgt=__ pts

B. Turn the given figure 90° clockwise.

Day 38

1.

983 2.

+ 645

744
- 388

4)986

5. | Find the perimeter and area of this square:

5

6. | Write this number in words: 26,980

7. | Find the perimeter:

A 1pt=__

B. Turn the given figure 90° clockwise.

c

Day 39

1.

1724 2.

2436
+ 265

606
- 276

8)376




5. | One year has12 months. How many months in 6 years?

6. | Write this number in words: 378,091
7. | A stadium had 5 parking lots. Each lot had 350 parked cars. How many cars were parked in
the lots?
A 2c=__ pt

B. Turn the given figure 90° clockwise.

Day 40
1. 1.34+20= 2. 44 -38 = 3. 38x3= 4. 8@
5. | What number names the point by x?
X
0 1 2 3

6. | Write the first 14 multiples of 6.

7. | Find the perimeter.
17cm

4cm

A. 26. Change each fact into two different division facts:
a. 4x9=36
b. 9x7=63

B. Turn the given figure 90° clockwise.

Day 41

1. 4976 2.136.4-156= 3.
+ 1806

SR

&
ol
N
o

x

5. | The 7 in 5780 means which? 7 ones, 7 hundreds, 7 tens, or 7 thousands?

6. | Write 1 to 20 with Roman Numerals.
7.| 45+ =
A 1qt=__ pt

B. Turn the given figure 90° clockwise.

Day 42

1. 55.23 2. 631 3. 8 4. 3E




+ 1842 -120 x 4
5. +0=2222
6. | Write from 1 to 30 with Roman Numerals.
7. +8=4
A 2pt=__ qt
B. Turn the given figure 90° clockwise.
Day 43
1. 892 2. 36.9 9 6ﬁ
+5484 -236 X 6
5.180x6=__
6. | Write from 1 to 40 with Roman Numerals.
7.1 63+ =9

A lc=__ oz

B. Classify the angle as acute, right, or obtuse:

P
<«

N

Day 44
1. 581 2. 8.22 6x5= 6)36
+ 249 -6.11 r
5. | Write in order, smallest to largest: 8423, 8243, 8432, 8342
6. | Write from 20 to 50 with Roman Numerals.
7.1 _+9=8

A 8oz=__ ¢

B. Classify the angle as acute, right, or obtuse:

L.

Day 45
1. 374 2. 763 (6x1)+8= 5@
+ 249 - 543
5. | How much money is two $5.00 bills, 3 $1.00 bills, 2 quarters, 2 dimes, 1 nickel, and 4
pennies?
6. 27+__ =3
A. 4qt=__ qal

B. Classify the angle as acute, right, or obtuse:

N




Day 46

1. 7.95 2. 1137 3.] (6x1)+8= T
+3.74 - 1052

5. | Today is Tuesday, what day is 16 days from now?

6. | Complete:5+(6+7) =(5+6) +

A. lgal=__ qt
B. Classify the angle as acute, right, or obtuse: 1

Day 47

1. 568 2. 69.3 3. 23x 3= 4, 4) 254
+ 165 -29.9

5. | If you divide 30 marbles among 6 friends, how many marbles does each friend get?

6. | Complete: (3+4)+5=3+(4+ )

A 1T=__ lbs. /

B. Classify the angle as acute, right, or obtuse:

Day 48
1. ﬁ 2. E 3. ﬁ 4.1 7)a79
5. | What is the missing number? 40. 37, 34, 31, , 25, 22
6. | Complete:5x(4+2)=(4+2)x
A. 20001bs.= T
B. Classify the angle whose measure is 89° .
Day 49
1. & 2. E 3. Xg.g 4, 4@

5. | A jar of 6.2 liters of water is spilled. If 3.8 liters are left in the jar, how much is lost?

6. | Complete: 6+ (8+9)=(_ +8)+6

A. Change each fact into two different subtraction facts:
a. 73+27=100
b. 18+13=31

B. Classify the angle whose measure is 90° .




Day 50

1. | 285+ 267 =

6.73 — 521 =

(6x3)x4=

2)224

Draw two parallel lines.

Write the first 14 multiples of 7.

N|o|g| AwN

How long did Nat practice on Tuesday?

Nats week of practice

60
50

40

30

20

Number of minutes

10
||

Monday Tuesday Wednesday Thursday

Friday
Days of week
A. Find the average: 7, 3, 8
B. Classify the angle whose measure is 112° .
Day 51
1. ﬁ 2. 12-5= 3. $t8§ 8%

5. | George had 2 dimes and Rico had 3 nickels. Fifi had twice as much money as both. How

much does Fifi have?

6. | What number makes 20<__ <76 true? A)17 B)80 C)70 D) 77

7. | How many minutes did Nat practice on Monday? (See previous)

A. Find the average: 2,5,8. 1
B. Classify the angle whose measure is 102° .

Day 52

1. 197 2. 869 3.
+ 249 - 539

650
x 3

6)534




5. [ (30+50)+80=__ + (50 + 80)

6. | What number makes 32< <75 true? A) 76 B)30 C)23 D)63

7. | How many minutes did Nat practice on Monday and Wednesday combined? (See previous)

A. Find the average: 12,5, 1, 10, 2
B. Classify the angle whose measure is 64° .

Day 53
1. 501 2. 17 3. $4.89 4, 6)432
+179 -9 x5
5. | Completeusing>,<,or=: 4x2_  42/3

o

What number makes 72< <172 true? A) 100 B) 200 C) 70 D) 60

7. | How many minutes did Nat practice on Monday, Tuesday and Friday combined? (See
previous)

A. Find the average: 15, 12, 3

B. Classify the angle whose measure is 98° .

Day 54
1. 54.48 2. 16 3. 34 4. 7%
+ 65.36 -3 x?
102

5. | A dresser costs $89.99. A bed cost $89.99. A nightstand sells for $47.50. How much for
the three piece bedroom suite?

6. | What number makes 17 < <2300 true? A) 12 B) 16 C) 250 D) 2400

7. | Which day did Nat practice the most? (See previous)

Day 54
A. Find the average: 10, 12,5, 1
B. 54. Draw four right angles that imitate clock hands in these positions:

3:00 9:00 9:30 6:15
Day 55
1. 449 2. 4231 3. 62 4. 4) 648
+ 269 - 2547 x 1.4
5.1 6000 — 2765 =
6. | What number makes 2005< < 42,362 true? A) 45,632 B) 30,000 C) 2004 D) 453
7. | How many minutes total did Nat practice during the week? (Mon.— Fri.) (See previous)

L P

A. Find the average: 9, 10, 2

B. Name two faces, two vertices, and two edges.




Day 56

1. 38| 2 1132 3, 3
+1.34 - 44

35)128

X
NN
o

5. | Which is a right angle? [ V\I

6. | What number is shown?

0 1 2 3
E F
A. Find the average: 10, 13, 4
K M
B. Name two faces, two vertices, and two edges.
P Z
Day 57
1. 1984 2. 432 3. $.82 4, 4)648
+1984 -25 x 19
5. | Estimate 98 + 36 + 45 =
6. | What part of an inch is shown?
X
I|I|I|I|I|I|I|I‘I|Illll‘llI|Ill‘llI|I|I|I|I|I|I|I|I|I|I|I|I|I|I‘I|Illll‘llI|I|I|I|I|I|I|I|I|I|I
1 2 3 4 5 6 7 8 9 10 11 12
7. | Mark 0.6 on this number line.
0 1 2 3

A. Find the average: 7,9, 2, 10

B. Name two faces, two vertices, and two edges.




Day 58

1. 3.048 2. 9431 3. 610 4. 12)108
+ 4.497 -435 X 43

5. | Write > or < in the space provided: a. 36 _ 38 b. 42 31 c. 127 __ 226
d. 98 189 e. 46 13

6. | How many eighths of an inch are shown?

I|I|)I(|I|I|Illll‘lllllll‘llI|I|I‘I|I|I|I|I|I|I|I|I|I|I|I|I|I|I|I‘I|I|I|I‘I|I|I|I|I|I|I|I|I|I|I|I
1 2 3 4 S 6 7 8 9 10 11

12
7. | Mark 1.8 on this number line.
0 1 2 3
W R

A. Find the average: 12, 13,6 / p
B. Name two faces, two vertices, and
two edges. N B
Day 59

1. 2775 2. 5643 3. $4.32 4, 2)$2.86

+ 308 - 3326 X 60

5. | You have 30 comic books. Each costs $0.52. You buy 15 more comic books. How many
comic books do you have altogether?

6. | What length is shown?

I|I|I|I|I|Illll‘lllllll‘llI|I|I‘I|I|I)|(I|I|I|I|I|I|I|I|I|I|I|I|I‘I|I|I|I‘I|I|I|I|I|I|I|I|I|I|I|I
1 2 3 4 S 6 7 8 9 10 11

12

7. | Mark 3.4 on this number line.

0 1 2 3 4
C D
A. Find the average: 18, 12, 15, 10, 10
\ S
B. Name two faces, two vertices, and two edges.
F H

Day 60

1. %+%: 2. %_%: 3. 3421 4.1 16)81

X 65




5. | If it is now 10 o’clock, what time will it be in three hours?

o

Write the first 14 multiples of 8.

7. | Mark 0.9 on this number line.

A. 28. Blythe collected $14 on Monday for candy sales and $28 on Tuesday. Clyde collected $9
every day from Monday through Friday. Who collected more money for candy sales? How
much more?

B. Identify as similar or congruent: O Q

Day 61

1. %_,_y: 2. %_}/: 3. S;(Gj 4. 58+8

5. | If you have sixty eight marbles and lose thirteen, how many will you have left?

6. | What are the prime factors of 36?

7. | Find the perimeter.
9mm 9mm

5mm

Scores on a Spelling Test

A. What was the lowest score on the spelling test? Stem Leaves
a.0 Db.50 c.60 d.65 6 00555
7 000555
B. Identify as similar ‘ 8 00055555
or congruent: 9 000555

Day 62

1. %er: 2. %_%z 3.| $6.00x32=4.| 60+10

5. | Four boys did an $8 job. How much will each boy be paid?

6. | What are the prime factors of 21?

7. | Find the perimeter. 7.2m
6.5rr/ /

A. What was the range of scores? (See table of scores, Day 61)
a. 35 pts. b. 60 pts. c. 90 pts. d. 95 pts.

B. Identify as similar or congruent:




Day 63

1. 2i+4i: 2. 1%_2 6= 3. 648 x 39 = | 4. 25221
10 10
5. | Bill has 341 pennies. Amy had 1626 pennies. How many pennies in all?
6. | Write all factors of 24.
7. | Find the perimeter.
6cm 8cm
/cm

A. What was the mode of the scores? (See table of scores, Day 61)
a. 70 b. 75 c. 80 d. 85

B. Identify as similar or congruent:

Day 64

1. 1 3 2.112/ _11/ _ | 3.[(6x20)+©9 |4
SVES 45 %5_ 5(42):) ( 6)185

5. | Find five different one-digit numbers whose sum is 20. Use trial and error.

6. | Write all factors of 45.
7. | Find the perimeter.
12 cm
12 cm
A. What was the median score? (See table of scores, Day 61)
a. 70 b. 75 c. 80 d. 85

B. Identify as similar or congruent: ‘
Day 65

1. 6.8 2. 3.7 3.1(82x5)+ 4. 7)636

+2.4 -16 (93x4) =

5. | Find five different one-digit numbers whose sum is 30.

6. | Write all factors of 72.

7. | Mrs. Jackson purchased 2 dozen eggs at the general store. She used 6 eggs making
breakfast. How many eggs were left?

A. Which is the best estimate for the width of a kitchen table? 4 in, 4 ft, 4 yd, or 4 mi?

B. Identify as similar or congruent: I:::::I [:::]




Day 66

1. 13.8 2. 14.5 3. 645 | 4. 48}316
+7.2 -3.2 x 790

5 [63-52=

6. | Find average: 7, 13, 10, and 6.

7. | How many plants were there at the end of the second week?
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A. Which is the best estimate for the distance from Atlanta, GA to Memphis TN? 371 in, 371 ft,
371 yd, or 371 mi?

B. Draw the figure, and
then draw a similar, larger figure.

Day 67

1. 76.3 2. 16.1 3. $6.34 | 4.
+99.8 -15.0 X 700

2906 +4

5. | Circle all the odd numbers: 0 6 21 50 71 19 8 24 17 3

6. | Find average: 16, 23, 36,10, and 20.

7. | Which week did the class have 30 plants? (see previous graph)

A. Choose the best estimate: length of a goldfish: 2 in, 2 ft, 2 yd

O

B. Draw the figure, and
then draw a similar, smaller figure.

Day 68
1. 9.76 2. 3.24 3. (943 x 1) + 30%
+3.98 -1.03 632 =
5.{]0+0= X 78




6. | Find average: 87, 93, 64, and 88.

7. | Between the second and third weeks, was there an increase or decrease in the number of
plants? (see previous)

A. Choose the best estimate: width of a driveway: 14 in, 14 ft, 14yd

B. Draw the figure, and
then draw a similar, larger figure.

Day 69
1. 105.76 2. 36.17 3. (64x32)— | 4. | 1435+4=
+13.44 - 3.82 (22x5) =
5. | Write “thirty divided by siz” using symbols in three different ways. (answer:
6+30,307,30:6

6. | Find average: 100, 96, 84, 61 and 43.

7. | Between the fifth and sixth weeks, was there an increase or decrease in the number of
plants? (see previous)

A. Jamie must do three different strokes in her competition. She must do the breast, back, or
butterfly. How many different ways can she combine her strokes?

B. Draw the figure, and
then draw a similar, smaller figure.

Day 70

L 74ha2f [ 2] e[y 3 X4g§ 4.] 316+48

5. | Label the following as square, rectangle, parallelogram, or triangle.

6. | Write the first 14 multiples of 9.

7. | How many plants did the class have at the end of the 7" week?

A. 29. Lisa’s babysitting service earned $125 in one week. She split the money evenly between
herself and four friends. Val baby-sits on her own and earned the following amounts in one
week: $3, #7, $12, and $4. Did Lisa or Val earn the most money?

B. Draw the figure, and

then draw a similar, larger figure. :

Day 71

1. 96.71 2. 63.07| 3.| (600x32)—|4.|551+24
+842 -51.93 (434 x 20) =

5. | Fill in the blanks with +,—,x,or+ :20_4=4 5




6. | Circle the prime numbers: 3 7 12 4 0 20 1 23

7. | Mark 5.5 on this number line.

0 1 2 3 4 5 6 7 8 9

A. Mark must choose a number for his jacket. He can only use numbers 1, 2, and 3. What are
all the possible combinations?

B. Draw the figure, and then draw
a congruent figure flipped over a vertical
line to the right of your first drawing.

Day 72
1. 2 2 2. 3/ _ 3. 643 | 4. | 886+31
324 +82 43421 o
5. | Name this geometric figure:
6. | Put an x by the statement that is true.
____Parallel lines will intersect.
____Perpendicular lines will intersect.
7. | Mark 0.4 on this number line.
0 1 2 3 4
A. Choose the best estimate: height of an elephant: 3in,3yd, 3mi
B. Draw the figure, and then draw f) '
a congruent figure flipped over a vertical N
line to the right of your first drawing.
Day 73
1. 727.9 2. 2936.7 3. (6x3)+|4.| 340+83
+98.6 - 1965.7 872 =

5. | Today is March 15™. What will the date be in 100 days from now?

6. | Which lines are perpendicular?




7. | Mark 4.3 on this number line.

0 1 2 3 4 5 6 7 8 9

A. Tina designs swim suits. The new in colors are silver, black, and purple. How many
different combinations can she make?

B. Draw the figure, and then draw ﬁ
a congruent figure flipped over a vertical
line to the right of your first drawing.

Day 74
1. 3 2 2. 4/ 3 3. 63 | 4. | 689352
42_'_42 A A X 77
441
3150
3591

5. | Name this geometric figure:

G

6. | Circle the acute angle:

N N

7. | Find the perimeter: 9.7ft

2.1 1t

A. Choose the best estimate: width of a TV screen: 151in, 15 ft, 15 mi

B. Draw the figure, and then draw
a congruent figure flipped over a vertical
line to the right of your first drawing.




Day 75

1. 16.95 2.
+ 13.05

312.61 3.
- 1363.51

643
x 514

22)598

5. | Name this figure.

6. | Circle the obtuse angle:

N~

>

7. | Find the perimeter:

1.2m

6.5m

A. Choose the best estimate: width of a TV screen:

B. Draw the figure, and then draw
a congruent figure flipped over a vertical
line to the right of your first drawing.

15in, 15 ft, 15 mi

Day 76

L1 a2f40ly 21 slf-alp ) 3

843

X 674
3372
8460
505800
517602

4879+91

5. | Juan has 6 boxes. Each box has five apples. If he gives 7 apples to Margie, how many does

he have?

6. | Which lines are parallel?

74

7. | There are 180 school days in a year. How many school days are there in five years?

A. Complete with the most reasonable unit: inches, feet, yards, or miles

Chen walked 3

B. Draw the figure, and then draw
a congruent figure flipped over a vertical
line to the right of your first drawing.

along the hiking path.




Day 77

1.| 17.8+19.48=| 2.| 185-164=]| 3. 975 | 4. | $54.94+73=
x 3
2805

5. | Joan babysat Monday, Tuesday, and Wednesday at $2.00 per hour each day and she worked
2 hours each day. What is the total number of hours that she babysat? What fact given in
this problem is not needed to answer the question?

6. | Circle the primenumbers: 0 1 2 3 4 5 6 7 8 9

7. | John bought 4.5 yards of green ribbon and 5.75 yards of orange ribbon. How many yards of
ribbon did she buy?

A. Complete with the most reasonable unit: inches, feet, yards, or miles The length of a bed is
6

B. If arecipe involving 3 cups of sugar serves four, how much sugar is needed to serve 20?

Day 78

1. 327.8 2. 36.076 | 3. (92x6) x | 4. | 812269
+96.5 - 26.206 (40x 8) =

5. | If you set the alarm for 8:00 a.m. and you go to sleep at 7:00 p.m. the night before, how
many hours of sleep will you receive?

6. | Circle the prime numbers: 0 6 12 22 17 8 13 1

7. | Complete45 + = 8.25

A. Bill, Al, and Gil are in a relay race. They must all run, however, they cannot decide the order
in which to run. Name all possible ways in which they can run.

B. If arecipe involving 4 cups of sugar serves 10, how much sugar is needed to serve 5?

Day 79

1. 3 2. 7/ _5 3. 6 x 5000) x | 4. | 1067 +-41
A +% 42 42 ( (345 x 0)):

5. | You buy a hotdog for $0.35, a coke for $0.40, and French fries for $0.50. If you give the
cashier $10.00, how much change should you get?

6. | Circle the prime numbers: 9 29 11 21 20 0 1 13

7. | Complete: 105 = + 6.2

A. Complete with the most reasonable unit: inches, feet, yards, or miles The height of your
classroom is about 3

B. If six quarts serves 8 people, how many people will 9 gts. serve?

Day 80
1.| 4.68+6.52 2. 7/8 —3/8 = 3. 2/6 x 2= 4. | 360/90
5. | Complete this pattern: 7, 10, 13,16, , , 25,28
6. | Circle the prime numbers: 0 9 13 14 19 22 27




7. | Complete 39.5- _ =23.3

A. Sam cut his pizza into four parts. He ate two pizzas and his friend Mike ate one of the pieces.
Write two fractions to represent how much pizza Sam ate.

B. If eight pints serves 6 people, how many people will 12 pts. serve?

Day 81

1. %+% 2. ] 543-131= 3. ng 4. %_%

5. | Write in the simplest way: (8 x 1000) + (6 x 100) = (3 x 1)

6.1503-__ =289

A. Which is the best estimate for a pitcher of water, 3 ¢, 3 qgt, or 3 gal?

B. If 12 pints serves 8 people, how many people will 6 pts. serve?

Day 82
1. 408+.6| 2.]15/16-8/16=| 3.| 2.3x3=4.| 7603+80=
5. | Complete: 60/91 = + 60/91
6.1503-__ =289

A. Lisa has three posters to put in a row on her bedroom wall. One poster shows Brittney Spears,
one shows N’Sync, and one shows the Backstreet Boys. What are all the ways Lisa can hang the
posters?

B. If six quarts serves 8 people, 12 people need how many quarts?

Day 83

1 6/ .8 2. 371-56=] 3. 623Xx2= |4 | 720-80=
As*é

5. | How much money is 2 dollars, 5 quarters, 6 dimes, and 3 nickels? Is this enough to buy a
CD?

6. | Amy rode her bicycle about 2.8 km each day. How many kilometers did she ride in one
week?

A. Which is the best estimate for a can of soup, 2 c, 2 gt, or 2 gal?

B. If 8 pints serves 6 people, 12 people need how many quarts?

Day 84

1.| 4,206 + 8.668 = | 2. 13/8-11/8=3. 532x.3=|4. V_y _

5. | What number makes all three sentences true?

6x_ =18 40-37=_ _ +2=5
6. Andy ran 0.84 miles. Then he walked 0.52 miles. How much farther did he run than walk?
A. Complete with the most reasonable unit: cups, pints, quarts, or gallons. Luana drank 3
of juice.

B. If 12 pints serves 8 people, 6 people need how many quarts?

Day 85

1. 14/5+4v =2, 391.68[3.] 4/5x4/6=]4.17/.3
- 265.40 AA

5. | Find the perimeter of this regular polygon




3m

6. | Tony had ¥ carton of milk. He drank 2/3 of it. What part of the carton did he drink?

A. Complete with the most reasonable unit: cups, pints, quarts, or gallons. A large
garbage can holds 20

B. If 15 cookies feeds 3 monsters, how many are needed for 30 monsters?

Day 86

1. 064 +1.641=|2.| 25/36—-14/36=| 3. 32.24x6=| 4. 84)9572

5. | Almo had 62 to start, and then bought 21 more, and then sold 58. How many were left?

6./23mm=__cm

A. Complete with the most reasonable unit: cups, pints, quarts, or gallons. The pudding
recipe calls for 2 of milk.

B. 1 If 15 cookies feeds 3 monsters, how many monsters will eat 30 cookies?

Day 87
1. Find sum: | 2. | Find difference: | 3. | Find product: | 4.| 1 1
41/6+81/2 25.47 -19.38 5.62x 7 )
5. | Which isthe sameas 9 +23? 16 +16;230+9;4x8,;9x3x2
6.40mm=__cm

A. Choose the best estimate: large glass of soda 1c, 1 pt, 1 gal.

B. Going 30 mph, how far does the boat go in 60 hours?

Day 88
1. Find sum: | 2. | Find difference: | 3. | Find product: | 4. | 3678+60
.648, 6.842, 25 7/8 and 16 3/8 6/7 and 3/9
and 2.06
5. | How many days from today is 6 weeks and 4 days?
6./25cm=__mm
A. Choose the best estimate: can of motor oil 1c,1pt 1gal.

B. Going 30 mph, how far does the boat go in 500 hours?

Day 89

1.| 42.68+2.04| 2| 1309.65—-790.01=|3.| 4803x53=|4. 65@
+042 =

5. | What digit is in the hundred-thousand place in 63,287,913.

6./3cm=__mm

A. Choose the best estimate: child’s wading pool 150 pt, 150 ¢, 150 gal.

B. Going 30 mph, how long does it take the boat to go 60 miles?




Day 90

1.| 06+0.464+ |2 21 -6%=|3. 718x6/9=4.| 4 1

40 = g 2

5. | Circle the true sttements: 20>19; 2+3>6; 5<6-2;0>1:;: 8<4+4; 20/5=4x1x0

6.|25mm= cm

A. Mary collected $13 on Monday for candy sales and $28 on Tuesday. Jim collected $4 every
day from Monday through Friday. Who collected more money for candy sales? How much
more?

B. If 12 in = 1 ft, how many feet are in 60 inches?

Day 91

1.| 114/8+62/4| 2| Find the difference | 3. 6425x8=|4.| 4264+80
= between 4 ¥ and 3.

5. | Write the name of the longest line segment.

A B C D E F G

6.|2qt.=_ pt

A. Carla’s mother bought 2 gallons of punch for the class party. Can all 27 students have a cup
of punch?

B. If 12 in = 1 ft, how many inches are in 60 feet?

Day 92

1. 141/ |2 360 -45.9=[3.] 6232x42=4.] 4]2800

614
+11%

5. | How many dozens are there in 108?

6.|6Cc=_ pt

A. Three different shirts can be worn with four different ties. How many different combinations
can be worn?

B. If 12 in = 1 ft, how many feet are in 36 inches?

Day 93
1. 768 | 2 479 -368.12 = | 3. 7.34x32=1|4. 42}8408
.046
+ 6.04

5. XXXII + XIV + XXVI =

6. | 3 half-gal= _qt.

A. Which is the best estimate for the weight for 1 serving of cereal, 1 0z, 1 Ib, or 1 ton?

B. If 12 in = 1 ft, how many inches are in 36 feet?




Day 94

1. 12% | 2 5654.10 | 3. 3[10xY%2=1|4.]12 +}/
6 Y - 3891.10 24" /2
+ 40 2/8
5. | Circle the even numbers: 16, 27, 31, 0, 4, 18
6.|8pt.=_ qt

A. Is this game fair or unfair? Flipping a coin - calling heads or tails.

B. If 3 feet are in a yard, how many yards are in 12 feet?

Day 95
1. 42 8/12 | 2 359 15/16 | 3. 42 | 4. }
6 6/4 - 298/16 x3.5 4216740
+ 102/8
5.1 65 —25=which of these: 2x2x10;8x5;(6x6)+4;80/4
6.|2gal=__ qt
A. Which is the best estimate for the weight of a bag of pet food, 10 oz, 10 Ib, 10 tons?

B. If 3 feet are in a yard, how many yards are in 15 feet?

Day 96
1. Find sum: | 2 367-217/8=3. 5/6 x 3/4 | 4. 4y +}/
82.06 80" /8
4.04
+ 172.6
5.160x(10x50)=(__ x10)x50
6.1 25 ?
30 42

A. Complete with the most reasonable unit. Ounce(s), pound(s), or ton(s). The
used to measure the weight of very heavy objects such as cars and ships.

B. If 3 feet are in a yard, how many feet are in 12 yard?

Day 97

1. 2681/2 | 2 839.75-691.08 | 3. 4321 x4=14.| 7664+-80=
42 2/8
+ 641/2

5. | Draw two parallel lines.

6.115_ 72
40 20

A. Complete with the most reasonable unit. Ounce(s), pound(s), or ton(s). A grown man might

weigh 175

B. If 3 feet are in a yard, how many feet are in 15 yards?

Day 98

1.] 64+8648+]2 13-8%=3. 8392 | 4. | 18)3960
.0468 = X 46

5. | How many objects are there in 108 dozen?




6.114_~2
54 42

A. Complete with the most reasonable unit. Ounce(s), pound(s), or ton(s). It costs 29 cents to
mail a first-class letter weighing no more than 1 .

B. Onamap, 1in. represents 25 miles. Cities 4 inches apart are really how many miles apart?

Day 99

1. 64/10+10 | 2 89.89 - 78.68 = | 3. 7.72 | 4. 175%
2/5 +11/2= x5 6
5. | What time does the clock show?
6.1 65 13
41 ?

A. s this game fair or unfair? Rolling a dice - getting an odd number.

B. 1in =40 mile, cities 7 in apart are how many miles apart?

Day 100
1. 046.0+ | 2 16 7/8 -5 1/16 | 3. 4/8x3/8|4. |5 2
146.42 + 8 a4
14.06 =
5. | There are 16 schnozes in a clump. How many schnozes are in 32 clumps?
6.|16 4
20 ?

A. Write two fractions to represent
the UNshaded part:

B. 1in =20 miles, cities 80 miles apart are how many inches apart on the map?

Day 101

1. | 24/52 +16/38 | 2 169 | 3. 0.463 | 4. 6353879
+10/40 = -54.7 X_.6

5. | Which of these numbers can be evenly divided by both 3 and 4?
16, 24, 30, 32, 15, 12

6. | What fraction of the donuts is shaded?

0000000

A. Choose the best estimate.  small whale 20z, 2Ib, 2 ton

B. 1 in = 30 miles, cities 180 miles apart are how many inches apart on the map?

Day 102

1. 78+ 54+ |2 0.813-.536=| 3. 65.3x23=|4. 28} 5684

1.24 =
5. | Six students each worked 5 hours and earned $2.00 each hour. How much was earned?
6. | 34,672,931 the four is in the place.

A. Choose the best estimate. calculator 4 0z, 4 Ib, 4 ton




B. Identify the point. [Teacher draws a graph grid and makes a point at (3,4)
Day 103

1. A43+3+ |2 0.813-.536 = | 3. 4x7/8=]4. 5) 4537

1.24 =

5. | What is the greatest common factor of 30 and 45?

6. | Complete9x =63
A. Choose the best estimate.  volleyball 9 o0z, 9 Ib, 9 ton

B. Identify the point. [Teacher draws a graph grid and makes a point at (4,1)
Day 104

1.| 5/8+%+3/8]| 2 0.4583 - 0.2738 | 3. 35x7-|4. 5) 4475
5. | Draw a cylinder.

6.

Use >or <tocomplete. 6% 5%

A. About 190 million years ago, a dinosaur called a brontosaurus roamed the Earth. It may have
weighed 30 tons. Today, the largest living land animal is the African elephant, weighing 16, 500
pounds. Which animal weighs more?
B. Identify the point. [Teacher draws a graph grid and makes a point at (1,2)

Day 105

1.

495.6 + 36.86

2

38 9/16 — 36 9/16

3.

3/8 x 4/15

4.

6)3288

5.

Write 57612 showing the value of each digit.

(Answer: 5 x 10000 + 7x 1000 + ...)

6.

Add 3 million to 6,432,74

A. s this game fair or unfair? Rolling a dice - getting a 6.

B. Identify the point. [Teacher draws a graph grid and makes a point at (3,0)

Day 106

1.| 3.60+.409+ | 2| Subtractl 5/8 from6 | 3. .002 | 4. 33%
2.09 = X 4

5. | What number goes in both blanks?

(7x_)+@Bx_)=75

6. | There are 2 pints in a quart. How many pints are in 7 % quarts?
A. Which temperature is the better estimate for hot chocolate, 110°F or 60°F?
B. 30. Identify the point. [Teacher draws a graph grid and makes a point at (5,3)
Day 107

1. 165/8 | 2 0375-02=| 3.| 06739x |4.| 7 )

+ 23 3/40 7= 8
5. | Draw two intersecting lines.
6. | Complete: 64+ __ =8

Which temperature is the better estimate for a snowy day, 50°F or 30°F?




B. Complete: 1, 4,7, 10,

Day 108

1.1 82/3+31/10| 2 0.15-08=| 3.| 5x3/5=|4.|5 7
+55/3= 6 12

5. | Round 4679 off to the nearest 10.

6. | What fraction is shaded?

A. When a Fahrenheit thermometer reads 90°, it is the right temperature for

a. ice skating
b. swimming
c. neither activity

B. Complete: 3,7, 11,

Day 109
1. 43| 2 1215/6 | 3. 6923 | 4. 38)4180
.89 - 12172 X 47
9.58
+ .38
5. |Use<.=,0r>:7-2 6
6. | Use<or>tocomplete: 7% __ 7%
A. Choose the better estimate: melting ice cubes 34°F or 4°F
B. Complete: 1, 3, 6, 10, 15, , ,
Day 110
1. 592.81 | 2 15/16 - %=| 3.| 348x9=|4. 15) 45.90
91.78
+ 40.04
5. | Mark 2 5/8 on the number line with a dot.
0 1 2 3

John rode his bicycle 8 miles in an hour. At that rate, how far could he ride his bicycle in

3 % hours.

A. Write two fractions to represent
the UNshaded part:

B. Complete: 1, 2, 3,10, 11, 12,

Day 111

1.

67/8+%+| 2

$176.27

03x2=

1%0*%




wiz=] | - 9348] | [ |

5. | Find perimeter of this triangle
5 6

6. | Write the ratio of x’s to 0’s
XX00X0X0

A. Choose the better estimate: normal body temperature 98.6°F or 58.6°F

B. Complete: 1,11, 12,21, 22, 23, 32, 33, 34, 41, 42, 43, , ,

Day 112

1. 36/100+82| 2 Subtract 0.08 from 3.| .012x21 | 4. 4)80323
4/100 + 10 0.3 =
3/10 =

5. | What is the greatest common factor of 18 and 24?

6. | Write the ratio of numbers to letters.
4,5 0B,C,6,E 7,9

A. s this game fair or unfair? Spinner with % shaded red, ¥4 shaded blue - chance of getting red.

B. Complete: 1,2,4,5,7,8,10, 11, , ,

Day 113
1. | Findthe sum: | 2 Find difference of | 3. | 2/5x 10/6 | 4. | (480+60)+(240+120) =
6.4, 9.74, 3.56and 0.8 =
15.756, 6.54

5. | What are the six factors of 20?

6. | Write the ratio of even numbers to odd numbers.
7,2,10,11,8,5,3,7,5

A. Choose the better estimate: water boils at 112°F or 212°F

B. Complete: 1, 4,9, 16, 25, , ,

Day 114

1. 286/100 + | 2 9% | 3.]|.059x6=|4.| (720+80)+(240+80) =
7/10 + 12/100 -31/3

Wit e o of gl 0 o5~~~ AT A O A O

6. | Write the ratio of triangles to circles.
A. Choose the better estimate: water freezes 32°F or 42°F

B. Complete: 1,10, 2, 11, 3,12, 4, , ;

Day 115

1.[ 3264/100+ ] 2 5.0-143[ 3. 3263Lx[4.[ adje8.44
183 75/100 + 5=
225 30/100 =




5. | What fraction of these numbers are even? 7, 4,16, 81, 2,19, 3
6. | Write the ratio of squares to dots.
A. Choose the best estimate: length of a shoe 9in,9ft,9yd

B. Complete: 100, 1, 99, 2, 98, 3 , ,

Day 116

1. 752 + 453+ | 2 1% | 3.| Y2x6/7=|4. 8} 59 206
6= - 5/6

5. | Find the area of the shaded region.

Find the perimeter:

2ft.

12ft.

A.

Choose the best estimate: height of a child 3in,3ft,3yd

B. Complete: 50, 49, 51, 48, 53, : )

Day 117
1.| 6% +813/16 | 2 9| 3.| 0528x9 |4
44082 o8 : 72)36072
5. | If there are 1000 milligrams in a gram, how many milligrams are there in 6 grams?
6. | Complete 32+__ =8
A. Is this game fair or unfair? Class with 10 boys, 15 girls - all names in a hat- picking a girl’s
name.
B. If arecipe involving 5 cups of sugar serves four, how much sugar is needed to serve 20?
Day 118
1. 91 33/100 + | 2 42| 3.|5/6x10=|4. | Divide 16048 by 40.
10 5/10 + - 0.372
67/100 =
5. | What fractions equal 2/3?  2/4, 3/2, 416, 3/5, 8/12
6. | There are 4 quarts in a gallon. How many qts. In 3 % gallons?
A. Choose the best estimate: length of a bike path: 15 ft, 15 yd, 15 mi

B. Identify as similar or congruent
or neither: Q




Day 119

1.| Findsum:.08 | 2| Subtract $1.50 from | 3. 9826 7% +y
+326.04 + $16.00 x 63 80" /40
1947 +6 +
2.86 =

5. | We have 5 dozen items and 6 extra with them. If we can put 11 items in a basket, how many
baskets are needed?

6. | Find the perimeter. 8ft.

4ft.

A. Find the average: 12, 10, 2

B. If arecipe involving 4 cups of sugar serves 10, how much sugar is needed to serve 15?

Day 120
1. | Findsum: 4 + | 2 | Find difference: 2000 | 3. Find Divide: 879 by 26
(3+8) -1217 product:
2040
90

5. | Write in standard form: (9 x 10000) + (5 x 100) + (4 x 10)—+(6 x1)=

6. | A $15 pair of blue jeans was on sale for $12.95. By how much was the price reduced?

A. Write two fractions to represent ©COeO0

the UNshaded part: O @00

B. Identify as similar or congruent or neither:

Day 121

1. 2/5 | 2 57| 3. Yax¥=14.11 3
+1/5 - 217 372

5. | If there are 1000 millimeters in 1 meter, how many millimeters are there in 6.26 meters?

6. | This circle graph shows how Bill spent his Allowance. What fraction of his allowance did
he spend for CD’s?




Bill's Allowance

Savings

Food

A. 27. Find the average: 10, 17, 4

B. If six quarts serves 10 people, how many people will 9 gts. serve?

Day 122

1. 21/9 | 2 9/10 | 3.]9/10x3/8|4.|1 4

+4/9 - 3/8 = 2§

5. | Brenda bought 6 Michael Jackson gloves and Alma bought 9. If the gloves cost $3.00, how
much did the girls spend in all?

6. | What fraction of Bills allowance did he spend on food? (see previous)

A. Choose the best estimate: height of your classroom 3 ft, 3 yd, 3 mi

B. Identify as similar or congruent: Ej (D

Day 123

1. 5/8 |2 8/9-2/19=| 3.|5/M12x1/3[4.|1 5
+2/8 2 ’ 7

5. | Write from 90 to 110 in Roman Numerals.

6. | What fraction of Bills allowance dii he spend on food and his savings combined? (see
previous)

A. Find the average: 7,9, 6, 10

B. If eight pints serves 16 people, how many people will 12 pts. serve?

Day 124

1. 2/9+2/9+ ]2 6/11-2/11=] 3.] 5l6x7/8[4.]1 2
5/7 = = 2 3

5. | What fraction of these numbers are prime?
5 2 11 7 6 17 10

6. | Mark 3.7 on a number line. P

A
v




A. Choose the best estimate Pitcher of lemonade 2 c, 2 pt, 2 gt

B. Identify as similar or congruent: @

Day 125

1, 23/100 + | 2 22125-19/25= 3.| %x%=|4]1 4
14/100 = 375

5. | Which of these numbers are factors of 72?
2 12 17 7 36 9

6. | Mark 2.3 on a number line. <

v

A. Find the average: 13, 20, 6
B. If 12 pints serves 18 people, how many people will 6 pts. serve?

Day 126
1. 5/13 | 2 8/15| 3.| 7/8x1/3|4.]1 1
+ 7/13 - 4/15 = 1°3
5. | How big is a right angle?
6. | Joe caught 3 fish in 30 minutes. At this rate how many fish would he catch in 1 % hours?
A. Choose the best estimate: paint for a living room 2 ¢, 2 pt 2 gal
B. Classify the angle whose measure is 92° .
Day 127
1. 1976 | 2 $39.59 | 3. x4 |1 2
9655 - 12.69 5 3
+ 3284
5. | What number is marked on the line?
X
0 1 2 3
6. | If Betty reads 118 words in 2 minutes how many words can she read in 5 minutes?

A. Find the average: 18, 22, 15, 16, 4
B. If six quarts serves 18 people, 12 people need how many quarts?

Day 128

1.| 7/19+8/19=| 2 45/12-3=| 3.|5/12x2/3|4. |1 3

5. | Draw the next drawing in the pattern:

oS g o

6. | Sally’s dog earns 2 dog treats for every 3 tricks she does. How many tricks will she need to
do to earn 8 treats?

A. Choose the best estimate: small carton of mild 1 ¢, 3 gt, 3 gal




B. Classify the angle whose measure is 179° .

Day 129

1. 4/9+5/9=]2] 51/8—2=| 3.| 3/8x%=]4. ] Divide % by 3/5

5. | Circle the true statements:
8x3<2+0;6x6>9+4 ; 10x10>4x5;:;0+6=6x0

6. | If 15 thingamagigs can be produced in 10 mlnutes how many can be made in an hour?

A. Choose the best estimate: bucket of water 3¢, 3qt,3gal
B. If 8 pints serves 16 people, 12 people need how many quarts?
Day 130
1. Find total: | 2 Find difference: | 3. | 5/12x 2/3 | 4. | Simplify:
19764 + 3276 41/5-3= = (1/3)/(417)
+89 =
5. | If you need 9 gallons to go 300 miles how much do you nee to go 9900 miles?

6. | Write the ratio of diamonds to smiley faces.

SROICROIVICNORE:

A. Write two fractions to represent * * *
the UNshaded part: , | ,
B. 83. Classify the angle whose measure is 85° . * * *

Day 131

1. 368 2/5 | 2 33/5[ 3.] 3/Bx5/6[4.] 4624
+ 489 1/5 - 1205 =

5. | Write the Roman Numerals from 90 to 120.

6. | Find the perimeter

4mm
Scores on a Spelling Test
A. What was the lowest score on the spelling test? Stem Leaves
7 000555
B. If 12 pints serves 18 people, 6 people need how many 8 0055555
quarts? 9 0005
Day 132
1. 36714/9 | 2 27| 3.| Multiply | 4. 4@
596 3/9 - 141/8 3/10 and
+ 9761 1/9 3/5
5. | Average 22, 36, 26, and 20.
6. | 500 ml = L

A. What was the range of scores? (see table of scores, Day 131)




B. Classify the angle whose measure is 45° + 45° .

Day 133

1.

+ 1790 9/15

421 2/15

2

7/8 —4/8 =

3.

1/3x 2/3

6)2.418

5. | Average 27, 29, 37, 39, and 48.

6. 750 ml = L

A. What was the mode of the scores? (see table of scores, Day 131)

B. If 25 cookies feeds 3 monsters, how many are needed for 30 monsters?

Day 134

1.
+

921 5/13

656 6/13

2

27/13
- 3/13

3.

3/10 x 1/2

4.

48)158.4

5. | Shirley rests 10 minutes each hour. How many minutes does she rest in seven hours?

6. 15L = mL

A. What was the median score? (see table of scores, Day 131)

B. Classify the angle whose measure is 3° .

Day 135
1. 426 2/7 | 2 329/11| 3. Find | 4. 4)$5.00
9741 3/7 - 171/11 product of
+ 329 2/7 Y2 and 7/4
5. | What fraction of the pie is not shaded?
6. | Find the perimeter:
15cm
16 cm
A. Correctly fill the blank with<, > or=": 12+4  7+9

B. If 5 cookies feeds 3 monsters, how many monsters will eat 30 cookies?

Day 136

1.

+ 2309 7/10

625 7/10

2

912/25
- 58/25

3.

Mult. 1/3
and 5/16

4.

60) 3,000




Which statements are true?
2x10=20+10

4x8+0=48
6x5#5x6
12=60+5

6.

On a trip, Bill had $3.00. He spent $1.96 on lunch. How much did he have left?

A. Choose the best estimate: slice of lunch meat 1oz, 1lb, 1 ton

B. Classify the angle whose measure is 100° .
Day 137
1. 24 3/8 | 2 8316/19 | 3. Find | 4. | 12Y$9.60
179 1/8 - 298/19 product of
+ 74807/8 Y2 and 7/4
5. | Write 4 2/3 as an improper fraction.
6. | 64 people can ride the bus. How many busses will be needed for 280 people?
A. Choose the best estimate: a small whale 2 0z, 2Ib, 2 tons

B. Going 20 mph, how far does the boat go in 60 hours?

Day 138
1. 965 | 2 39-2=] 3. Mult. %2 | 4. | If 6 dozen pencils cost
4716 and 7/8 $2.16, what will one
3290 pencil cost?
+8009
5. | Given 1000 mm =100 cm =1 m =.001 km

Which of the following is not equal to the others?
10000mm, 1000cm, 100m, .01km

6.

Jake ran 5 laps in 3 minutes. How many laps can he run in 5 minutes?

A. Choose the best estimate: bag of potatoes 50z, 51b, 5 tons

B. Draw four right angles that imitate clock hands in these positions:

12:15 12:45 6:45 3:30
Day 139
1. 9007/9 | 2 19/23 | 3.| 1/7x2/7|A4. 8)7,000
+300 2/9 - 7123 =
5. | Draw two parallel lines.
6. | Cindy hammered 14 nails in 2 minutes. How many minutes will it take her to hammer 42
nails?

A. Choose the best estimate: hot chocolate 400°F, 100°F, 212°F

B. Going 20 mph, how far does the boat go in 500 hours?

Day 140

1. 691 10/11 | 2 104/5| 3. | Find productof | 4. | Divide 6 by 200

+306 5/11 - 4/5 1/2 and 1/2
5. | What percentage of 100 is 41?
6. | Mr. Brown’s sports car gets 12 miles per gallon. How much gas would he need if he wanted




| to drive 96 miles?

A. Change each fact into two different addition facts:

a. 14-9=5
b. 35-24=11
B. Draw a line of symmetry for the given figure: Q
Day 141
1. Sum of 2/8 | 2 Find difference: | 3. | Find product of | 4. | Divide 241 by 37
and 3/8 90853 3/8and 2/3
32265

5. | Give the value of n: 150 —n =25

6. | Complete: 6.75 + =8.25

A. Choose the best estimate: frozen juice bars 32°F, 42°F, 52°F

B. Draw a line of symmetry for the given figure:

Day 142
1. Sumof5/9 | 2 Find difference: 3. Mult. 11/12x | 4. | Find :1/2+2/3=
and 2/9 10 5/6 11/12
11/6

5. | What number goes in the blank? 75x5=5x

6. | The amount of lemonade in a glass is: circle one e 200 ml 200L

A. A rectangle is drawn that has length 4 cm and width 2 cm. What is its perimeter, and what is
its area?

B. If 12 in = 1 ft, how many inches are in 72 feet?

Day 143
1. Sumof2/3| 2 Subtract: 3. 10/11 x 10/11 | 4. Divide:173+y
and 1/3 23/5 S
12/5

5. | Write in words the number 2,565

6. | What fraction of the triangles are NOT shaded?

AAALALAN

A. Choose the best estimate: cold lemonade 32°F, 42°F, 52°F

B. Identify the transformation
as a flip or a turn. —




Day 144

1.| Sumof21/3|2 Subtract: | 3. | Multiply: 49.72 | 4. | Divide:5407 +~32
and 6 1/3 57/12 -4 2/12 and 0.036
5. | There is only one number that can go in both boxes to make these sentences true. What is
the number?
150-[ 1 =50 50+[ 1 =150
6. | The amount of gas in a car tank is : circle one 60 ml 60 L

A. A rectangle is drawn that has length 5 cm and width 2 cm. What is its perimeter, and what is

its area?
B. ldentify the transformation —
as a flip or a turn.
Day 145
1.| Sumof41/4|2 73/5-42/5| 3. 3000 x.009 | 4. | 2804+7=
and 2/4
5. | How much did Mrs. Smith spend for clothing, gas and food?
Mrs. Smith's Spending
$5.00
$10.00
O Savings
B Gas
$20.00 0 Food
O Clothing
$60.00 B Gifts
$5.00
6. | 15009 = kg and 248 g = kg
A. Change each fact into two different division facts:
a. 7x8=56
b. 9x6=54
B. Going 20 mph, how long does it take the boat to go 60 miles?
Day 146
1.| 241/3+101/3=| 2| 8050-2423=| 3.| 47613x2015=| 4. .1 5
Divide: Z+7
5. | What fraction of the $100.00 did Mrs. Smith save? (see previous)
6.|18yds.=_ ft. and 18 ft. = yds.




A. Define perimeter.
B. Draw parallel lines.

Day 147
1. Sum of 6.7 and 2| 67/9-34/9=| 3.| Factorandfind| 4. |I1f71/6is
1.82 product: 25/40 dividend, ad 5 %
X 80/100 is divisor, find the
quotient.

5. | Which two triangles are congruent:

N
N
I:I\J

6./3c.=_ pt. And 8qt.=_ pt.

2 i E 3 2 i E 4 2 i E 3
4 5 4
A. Define area, and then define perimeter.

B. State what geometric figure is suggested by a basketball rim.

Day 148

1. 1.0034+109+| 2| 86/7-15/7=| 3. 8.888 | 4. 16@
204.58 = X 1.77

5. | Label the following as parallel, intersecting or perpendicular.

— !

6. | 3 half-gal =__ qt.

2% qt. = pt.
A.
Find the perimeter of the figure: 7cm 4¢
6cm
B. State what geometric figure is suggested by an arrow.
Day 149
1. 7+8829=| 2| 59/10-26/10| 3. (.03)2=| 4. | 5342+101=

5. | Which is a scalene triangle?

Answer: A,C

6. |2%gal=_qt.

A. 73. Find the perimeter of the square. 4in

B. State what geometric figure is suggested by a can of beans.




Day 150

1. 8+ 7+06+| 2| 801-432=] 3. 35/6X6=] 4.] o4/ .26/ _
171 = 24'3 [

5. | Draw an isosceles triangle.

6. | Robert bought a book for $3.29. He gave the clerk $5.00. How much change did he get

back?

A. Change each fact into two different subtraction facts:

a. 49 +51 =100

b. 8+6=14
B. If 12 in = 1 ft, how many feet are in 72 inches?
Day 151

1. Sum: 246.01,6, | 2 Subtract % | 3. | Multiply: 1/7X | 4. | Dpivide: %by4

and .421 from 6 7/8 X 4/5 8

5. | What fraction of the figure is shaded?

6.175_3
2 100

A. Define area.

B. Draw a line segment.

Day 152
1. 1/8+2/3=| 2 65-234=| 3.| 413x13/5=| 4. 36}19405
5. | Find perimeter: 65
16 / 20
28
6./ 6_18
? 24

A. Find the area of the figure. 2 ft.

7 ft.
B. Draw a ray.
Day 153
1. Sum: 462.3, 5, 2 82231 | 3. 199x.82=| 4.| 7/8+9/10
8.6, 23.04, 2 - 7645
5. | Find area:
3cm
10 cm

6.132_2

10 30




A. Find area of the square. 10 ft.
B. Draw a line.
Day 154
1. /47 +1/47 | 2 7/8-5/12=| 3. | (4/7x7)x23/8 14}368
5. | What was the temperature at 12 PM?
Temperatures For a Fall Day
100
% P —————
o 70 — aa "
2 60 —
g 50
£ 40
S 30
20
10
0
Nine AM Twelve PM Three PM Six PM
Times Teperature Taken
6. | If you can cut 4 boards in 30 minutes, how many boards can you cut in 2 % minutes?

A. A rectangle is drawn that has length 3 cm and width 2 cm. What is its perimeter, and what is
its area?

B. State what geometric relationship is suggested by sidewalk edges.
C. State what geometric figure is suggested by an elbow.

Day 155

1. 8762.341 | 2 1.0-.98=| 3. 441 x 0.008 = 1}/ +7/ _
+ 241.46 127 /12

5. | How many people visited the library on Sunday?




250

Average Visitors to Public Library

200

150

100

50

Number of Visitors

Friday Saturday Sunday Monday
Days of Week

6. | Write the ratio of to M

It

N

IRIRIAIRIRIRE

A. Using as many pennies or nickels as we want, how many different combinations can we find

to make 15 cents?

B. Draw perpendicular lines.




